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HHSAYH| (23122 31,600 31,000 600
o=t 31,600 31,000 600
Jl= | 31,600 31,000 600
201 k2| 20,800 20,200 600
01 AFR2I2IH] 18,300 17,700 600
O SH|(S32BVLREX)
8,00021%2001x304} 4,800 4,200 600
EENERE 4,115,4% 2,533,075 1,582,420
2 8,500 8,500 0
7 1,132,000 432,000 700,000
= 306,920 %, 170 207,750
2 2,668,075 1,993,405 674,670
25i0E BAE 29 909,357 803,937 105,420
2 8,500 8,500 0
= 89,670 89,670 0
2 811,187 705,767 105,420
S5tz 29 162,450 157,030 5,420
201 k2| 56,050 55,630 420
0T Al 2I2IH] 50,690 50,270 420
O SHI(23H0&=Y25T)
8,000244621570A! 3,360 2,940 420
307 212+0/H 83,000 78,000 5,000
02 SIFEAAIBE 42,000 57,000 5,000
O duliet=y 25,000, 0002 25,000 20,000 5,000
TRIAH &5t AlbEraet BeitHs| 100,000 0 100,000
307 212+0/H 100,000 0 100,000
04 DIZFBHATAIRI PR 100,000 0 100,000
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01 A&t 1,394,960 0 1,394,960
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01 A&t 641,567 172,567 469,000
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X 705,000 705,000 0
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B EE Y ENEESENS 1,771,500 1,772,000 A500
X 705,000 705,000 0
= 211,500 270,000 158,500
= 855,000 797,000 58,000
401 AEBIZ Y| 771,500 772,000 A500
X 305,000 305,000 0
= 91,500 120,000 £28,500
z 375,000 347,000 28,000
01 A&l 765,122 767,136 £2,014
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PN R e ) = N =iy 545,071 546,716 A1,645
Xl 285,000 285,000 0
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= 203,071 196,716 6,355
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308 AXIHHSOIA 67,069 60,016 7,053
07 XXM R E= 0 60,016 260,016
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el H7E70Is4 53,334 53,000 334
Xl 32,000 32,000 0
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Xl 32,000 0 32,000
= 6,400 0 6,400
= 14,934 0 14,934
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= 9,34 9,000 334
308 KXIEHHISOIH 0 33,000 233,000
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= 0 38,000 238,000
= 0 62,000 262,000
10 S 2SO CHEHE &M X CHEH AF | 250,000 0 250,000
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Xl 150,000 0 150,000
= 30,000 0 30,000
= 70,000 0 70,000
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Xl 143,034 100,000 43,034
| 644,839 645,542 AT703
= 39,725 40,505 AT80
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| 144,839 145,542 AT703
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= 2,160 3,022 862
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